BARIL T Y b

MER) < —(F L oP)

-~ 7\,7

25

BEM | BARERW | MR Yh |t C H h
13SU 15.88 M6 X 20 1.8 44 o4 34
20SU 22.22 M6 X 20 1.8 44 o8 38
25SU 28.58 M6 X 20 1.8 44 62 42
30SU 34.0 M6 X 25 2.0 45 66 47
40SU 42.7 M6 X 25 2.0 45 70 o1
o0SU 48.6 M6 X 25 2.0 45 13 o4
60SU 60.5 M6 X 25 2.0 45 80 60

T e fit#410051)— X SUSL/ S RBNAT
HH SPHC e EnoE "1
&t bz RE BHE ﬁ’é’?zﬁ/ﬁ
o 10130010291 "N A\ 0-1
N uere BRALToIMR A wrsnn| A




